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S HAEHE|454
- e 1HE 28 H
Lo K4 FEHIBI—R ouT = S = TOTAL
1 AN BE— FEEAY- 37 37 38 37 149
2T Hd #H— EA N 39 40 35 37 151
2T AR #ith 2 ELE 37 40 38 36 151
4T RINYTITSN\L fE AR 36 40 37 39 152
4T NE HKE WFFHRH A E 36 39 39 38 152
XU E SERBEERGRIC—F
6T 5 BA TV 40 39 36 38 153
6T INE B E AN 39 37 40 37 153
8 il R 2 EELE 38 40 37 39 154
9T O Bl WFE B EE 38 40 39 38 155
9T WA EF 2 ELE 36 41 39 39 155
XLUE, 108 %E%RE
11 HX B TV 40 37 39 40 156
12T FL B WFEHEE 42 39 38 38 157
12T WE ez Mg 39 42 37 39 157
12T HE BE— FEDFHE 36 43 39 39 157
12T AE 7] T 37 39 39 42 157
16T KEF FIA WFHRMLE 41 40 37 40 158
16T KE Fh FEDFHF 37 43 38 40 158
16T HH FsF WFE B EE 41 38 39 40 158
16T B E= 7YY 40 38 39 41 158
20T He Bk WFRHEE 40 42 39 38 159
20T R ZEELE 42 39 39 39 159
20T Bk E=E L ELE 37 43 39 40 159
20T EBE Bx WFE T EE 38 42 39 40 159
20T TR FE LEELE 39 40 39 41 159
20T =l &N WFHHAE 39 40 39 41 159
20T AR BT TV 37 42 38 42 159
20T Bl EA RN 37 40 42 40 159
28T [ WFEHEE 40 42 39 39 160
28T Rl B— WFE T EE 40 42 39 39 160
28T ERE fE— AT ELE 40 42 39 39 160
28T Y Fi LEHELE 41 41 36 42 160
28T &l 8hE TV 41 41 35 43 160
28T g B FEEAY- 41 40 38 41 160
28T WE 86 EHRF 40 39 40 41 160
28T EENES WFHH AR 37 41 42 40 160
28T Afix ER WFEHEE 40 38 38 44 160
28T N BRIA FEEAY- 40 37 37 46 160
28T i AR 7YY 39 38 37 46 160
39T T% BE WFEGHEE 42 43 37 39 161
39T Wi @mz i 38 43 39 41 161
39T [LH #EA INES 42 38 41 40 161
39T mK EEk 2 ELE 39 41 40 41 161
39T BiE E#A N2 38 39 40 44 161
44T A6 2 ELE 40 47 37 38 162
447 KR B WFEGHEE 41 43 39 39 162
XL E 452 AEEARISER
WX FJIl =88 FEDHE 42 40 37 43 162
HWR2 A i A=V IN; 42 38 38 44 162
WR3 ¥iE R L ELE 40 38 41 43 162
HWR4 ¥4 BR— N 38 40 39 46 163
AR5 HT EBE— 2 EILE 39 38 42 44 163
R =H BE INEZ 45 41 38 40 164
wWRT KFEF Bk IV 40 44 42 38 164
ARS8 = Ig— 7YY 45 39 39 41 164
R =N B FEDHE 41 42 41 40 164
#WR10 FEE BX WFEHEH 41 39 40 44 164
w1 AH 5hth INEZ 42 43 37 43 165
HWR12 ey I&H A=V dIN; 36 48 38 43 165
wWR13 8K Hi EHF 41 42 42 40 165
R4 x HEA INEZ 42 41 40 42 165
##HR15 A+ AR FEDHE 44 38 39 44 165
WR16 BIE H1R LERELE 41 41 39 44 165
wx17 T i) WFEHBE 41 41 39 44 165
wWxri18 T E RE NS 40 45 37 44 166
wWx19 N BT FEDFHE 40 44 42 40 166
#R20 INE JE— WFE T EH 40 43 41 42 166
63T #Hy BEE FEDFHE 41 42 39 44 166
63T 58 FEDFH 40 42 42 42 166
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63T g FH WFE T EH 42 40 40 44 166
69T &8 & EA=N 42 48 39 38 167
69T Rk ZE WFEHEBE 42 44 41 40 167
69T BHE [E— NS 40 46 40 41 167
69T ® Bk FEDH 45 41 38 43 167
69T P EHF 44 41 41 41 167
69T #E A= EIN 40 45 38 44 167
69T fic m| ﬁ% A= IN. 40 45 38 44 167
69T HiA == N 41 43 40 43 167
69T A +F58 L ELE 42 41 42 42 167
69T 5 1= FEROFH 41 42 41 43 167
69T FHEE IS WFEEEHE 38 45 41 43 167
69T =B BE WEHRH A E 38 43 42 44 167
69T Tl EE hE A 39 41 42 45 167
82T NG it EHrFE 45 42 41 40 168
82T %E =S 7Y 43 41 41 43 168
82T EX R TV 42 42 40 44 168
82T FH FE 7Y 41 41 42 44 168
82T =l Bh 7YY 40 42 41 45 168
87T H% 5 2 ELE 44 43 42 40 169
87T Y] mE N 40 44 43 42 169
87T ERNl EZ— WFHZEMKLAE 40 43 42 44 169
90 fafE e WFHHAE 40 45 42 43 170
91T N #3 W WNE 43 46 42 40 171
9T XE BiE FEDHE 41 46 40 44 171
91T By ZE AL WFEEEE 42 44 39 46 171
94T EH FX A== IN 46 42 40 44 172
94T =23F & 7)Y 43 44 43 42 172
94T HiE B CA=IIN 43 44 43 42 172
94T iE BF WF£& _E,% 41 44 44 43 172
94T & EX WFZR$£2 39 44 42 47 172
99T AR S VVF§§'<Q§EE 41 49 41 42 173
99T WA FF WFEHEB#E 45 45 39 44 173
99T WE B 7Y 42 46 42 43 173
99T oA BE NS 42 45 46 40 173
99T & ER ESF 41 46 42 44 173
99T P E— WFEHEH 42 44 43 44 173
99T tkEE EF WEHH L E 42 44 40 47 173
99T BEH 1§ FROFH 43 43 39 48 173
99T AR 8#E WFEHEH 39 46 39 49 173
108 A& B 7YY 45 44 43 42 174
109T =R BX WFHH L E 44 45 40 46 175
109T KA FHth WFEEEH 40 47 42 46 175
111 = HE WFHH L E 40 46 46 44 176
112 #HA h— WFHMHAE 46 48 39 44 177
113T R FE N 43 50 44 41 178
113T BB /X NS 43 45 43 47 178
115 Wil #8— EA= N 43 50 43 43 179
116T RiE IEE WFEEEH 44 45 45 46 180
116T By F— WFE T EE 44 42 44 50 180
118 = R’E L EILE 44 43 51 47 185
119T g E— ENF 43 49 43 52 187
119T C1 5 EHrE 44 46 48 49 187
Ed == EX =N 40 41 - -
Ed 3 HNE FtiE WFEHEH 40 44 - -
XEHE Bk EFE ENF 40 45 - -
XEHE kB —= WFEHEBHE 44 45 - -
KEELE AlE F— 7YY 43 46 - -
XEE Fh BE FROFH 46 45 - -
KEELE HT FE— 7YY 44 47 - -
XEE W 5= EHF 47 49 - -
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1B EHI5E 1284
JIIE 432 K4 FEHIZI—X ouT IN GROSS
1 At fE— FEEARY - 37 37 74
2 Ak K5 WFFHEM L E 36 39 75
3T AR ZF T 37 39 76
3T INE BT 2o EILHE 39 37 76
3T TN T ITSINL FEEARY - 36 40 76
6T WA EF 2T EILE 36 41 77
6T A #th AT EILE 37 40 77
6T HAX B TV 40 37 77
6T Bl A NN 37 40 77
6T g i INKZ 38 39 77
6T Hr E— AT ELE 39 38 77
6T NS BRIA FEEARY - 40 37 77
6T hAf £EER T 39 38 77
14T O Bl WFEEEE 38 40 78
14T g5t BE— MRS 38 40 78
14T X&HE EB WFEEEE 40 38 78
14T AE E= 7Y 40 38 78
14T WA F1x WEZRMH L E 37 41 78
14T ¥iE R 2o BILE 40 38 78
14T R =& AT ELE 38 40 78
21T £E FE AT ELE 39 40 79
21T HE E— FREDFF 36 43 79
21T =10 Ky Ty 37 42 79
21T EE:IN WY VN 39 40 79
21T =B ¥sF WFEHEE 41 38 79
21T WE B8 ENF 40 39 79
21T frig B T 40 39 79
21T B &#— AT ELE 39 40 79
29T BK _E¥E EE N 37 43 80
20T KE FEE FEDFF 37 43 80
20T A #EA INES 42 38 80
29T HK FE P =N 39 41 80
20T N ES WFEE B&E 38 42 80
29T FiE BX WFETEE 41 39 80
20T XS 8 AT ELE 42 38 80
20T Xl =F FEEARY - 39 41 80
37T WH Bz T 38 43 81
37T TG BE WFZRM L E 38 43 81
37T WH F1T AT EILE 40 41 81
37T HE R WF& T &} 42 39 81
37T KEF FOA WFZRM L E 41 40 81
31T oE # FEEARY - 41 40 81
31T WE 1z INES 39 42 81
37T Wi & =N 42 39 81
45T HiE shE Ty 41 41 82
45T RETEEES FEDZHE 44 38 82
45T BIE  %0R Lo ELE 41 41 82
45T Heh BEX WFEEEE 40 42 82
45T ER Fid =N 41 41 82
45T AR FA WFE G EE 41 41 82
45T e IFE WFE G EE 42 40 82
45T AL fE— 2o ELE 40 42 82
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45T WA =R WFETEE 40 42 82
45T Rl B— WFETHEE 40 42 82
45T =l Bh TV 40 42 82
45T KH FIE Ty 41 41 82
45T )il 7=ER FEDFE 42 40 82
45T M 5B FEDFE 40 42 82
59T IS = WFFHEM L E 40 43 83
59T X +5H L2 ERLE 42 41 83
59T INE JE— WFETEE 40 43 83
59T x EFEA INEZ 42 41 83
59T 15 E - FEDFHE 41 42 83
59T K Fi ENF 41 42 83
59T =58 EX VN 39 44 83
59T #Hay BHEB FEDFHE 41 42 83
59T =5 B FEDFE 41 42 83
59T R IES WFE T EE 38 45 83
69T WE =4 T 43 41 84
69T En & T 42 42 84
69T KFE BX RN 40 44 84
69T Xy mE INES 40 44 84
69T =3 JEg— TV 45 39 84
69T FE FHiE WFETEE 40 44 84
69T Ha 1%ER AT ELE 36 48 84
69T M BT FEDFHE 40 44 84
69T Hif BE= NN 41 43 84
69T KR BX WFEEEE 41 43 84
79T BiA HF AT ELE 40 45 85
79T A B®E WFEE B&E 39 46 85
79T T8 BE WFEE B&E 42 43 85
79T AH &hig INEE 42 43 85
79T T E HE INEZ 40 45 85
79T fic]m| ﬁ% P =N 40 45 85
79T B F& EINF 40 45 85
79T ?a B WY VN 40 45 85
79T WiE A WFEHEE 41 44 85
79T ﬁﬁ<$&ﬂ EILF 44 41 85
89T EiE M WY VN 40 46 86
89T FiE =E WFETEE 42 44 86
89T FE B WFEE B&E 42 44 86
89T BH 15 FEDZHE 43 43 86
89T 5H BE INES 45 41 86
89T By F— WFETEE 44 42 86
89T wmE E— INES 40 46 86
89T ®_ B FEDFHE 45 41 86
89T IREy S A WFEH EE 42 44 86
89T kg EF WFZRM L E 42 44 86
99T SEE AT EILE 44 43 87
99T A BEA Lo ELE 43 44 87
99T =2H#H & TV 43 44 87
99T oR BE INES 42 45 87
99T AN 6 2o BILHE 40 47 87
99T =5 &= AT EILE 44 43 87
99T =i ER ENLF 41 46 87
99T XE B FEDFHE 41 46 87
99T KE Hth WFETEE 40 47 87
99T 7 H Juhd EILF 45 42 87
109T EHAH 1EX 2o ELE 46 42 88
109T SE-IAVIES INES 43 45 88
109T WE &E TV 42 46 88
112T =E BX WFZM L E 44 45 89
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1127 il IEE WFE E& 44 45 89
112T A¥ & TV 45 44 89
112T Kig F= Ty 43 46 89
112T kg —= WFEH EE 44 45 89
112T Mk 83K WFFHEM L E 43 46 89
118T WX F5 WF& E& 45 45 90
118T m B ENF 44 46 90
118T #AR S WFFHEM L E 41 49 90
118T M EE AT EILE 42 48 90
1227 HF F- TV 44 47 91
1227 Fh BE FEDFHE 46 45 91
124 Wk K= ENF 43 49 92
125T BER INES 43 50 93
125T IR 2T EILE 43 50 93
127 ZFHA = VN 46 48 94
128 WA BE= ENF 47 49 96

5/5R—




